¥

EBLUE T 2528 s AR Bh A (et 2

IR~ a2 g Bh 5 {2 o BUREN ﬁ?‘w)%ﬁﬁ (EEEBEHER)
s o]  msam204peAR23E
4, 3 NI B P A
P& | R ngedw VEELL
= T VTR | BSEE | BRMRE | GkE mE | EERE
P LA g ;%%202%'2/:’1 Yors |
&k /"gg,,:’ B 0 A
WEERHLER [BRke | DREER | ORLER | ORRE | OF ek
el At for8o% | ___ % N
4 o | R | omsaEm LR B YOO NE_3_4
I = ,M——— T o smeio  AAEmIED _3hH s
. fﬂ;‘i‘ 2z 2 A ﬁ I BV O #ET. LWEHAE: O WiME
fﬁ - - - 4. SREEFIRERIY.
TH L
i L ) , CVR FRZSTF B IR R W], CHIBUT L BARE S
i? 41 é?( OB 5L B E B, N /A L/ 92T A P9 L B
;f; R %%ﬁ%aﬁ 428 NEA 5 b7 /%M, RYRABH 4T
) ,,,ﬂw%m S A,
i
¥
] v,
i R NARE b5 5 2 55
2 wiAgs: | 2024 4 175 & .
| ; = %
9_?@P-;1/Bfﬁ/)xlmﬁ D })}@tm\ ,." L. / n}” — % 7é/ @ //t&/ ?7
2 56 b7 .
B g A {"' “ ,,g 1l - '
B N 3 Doytpe Y A v
b
= !

i‘?’?” Fo__Ma___ ¥ oA

N

i ;j
5“*?‘/:«&@?{'
~

4% T4 PyE 5 A 7 H

TURAISININBY AR £

AREgs ¥ 15.000% 7 CKE! %Ji BN G A T —F )
BN DAL Y o




v’P‘;"”Q

5@% B RO B inisey PEE 4
T2 (Orphan Education Society Guansdons

Orphan Education Soclety Guangdong

LEJA B R

liml

mEs: PRy e B gty €Y
r*éi%m‘g‘ﬂﬁﬁ&/ar@ﬁm 34\% i FH hr 58

Cﬂ&;EﬂEA%coﬁa@%‘h%‘”%’

AR ZR 2w M AT BY 22 e 3t & bk 16,000 76 CR5: AR
ME AT o), BE N VT

FIA WA: PE

i l /
YN (iﬁﬁ/ﬁﬁﬁ/ﬁﬁ!{%
),
ik —

gin: ) B W

B i '58221755$}
7w RfESH SR



e Lo aber e Ao P\ e i T B 2 A1 3 A RS

(2 F% 200 )
?m&¥%ﬁma@&ﬁ
BIREHERE
A 5. B it 656 H3K Bl IBER GHERX) e R
. fEpe [, g
FESI, B b 656H3K  lMm. JIMER GHER) ]
ABEH: 2024-04-17

it B 7Ep%

HIRISUT: LRI i e 2 2

RITEM. ERITENTHRBHEA, fﬁw’f"'i\@@ﬁf;ﬁ
: # %\\}Q\s%i\-\ Y
j‘f\/\»}i l M
£ g W
: o Vi
KR 2024-04-24 10:36 % Eéﬂgﬁé\iii d
Q%% "’" I

L PR b AR TS
2. AR, FIRGAEEGI RILWHED;
3, TSR, BRI ROER: (BBULT M A
SLEERE) FRAMIBEHEN,

Py g

Pl




- - — S S RB AR S MBS A T
R S A Catifee e a R B e

bk i AT

202440416
PR T i e il
) 3 . o L
PR L v U AL | coCiEW Sbal
G e A —Fm )| FREREIS T
EREAEE ,
=k B2
¥
m—N S = N

s £% | Ak |’
Fifs mﬂ - 3 s i :

i A 4 A & wk %

_ 19820320 e wR L

ARE %R : oWl

(E%ﬁ) ~ , .
ES 5 =

FeAx - a4 i
Wk : : :

e

PR | R o RER R
Mo bk e -t .

R E |
E AT

2

R
AR
B

H = gy e

7







